Bid Tabulation

BID ITEM	DESCRIPTION	ESTIMATED QUANTITY	UNITS	MILCON CONCRETE OUTI			ENTERPRISE TOTAL COST	KINNISO UNIT COST	N EXCAVATING TOTAL COST	SUNESIS CONSTRUCTION UNIT COST TOTAL COST					
	GENERAL														
1	Mobilization	1	LS	\$41,751.00	\$41,751.00	\$80,000.00	\$80,000.00	\$75,000.00	\$75,000.00	\$71,185.00	\$71,185.00				
2	Bypass Pumping	1	LS	\$35,113.00	\$35,113.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$39,057.00	\$39,057.00				
3	Maintaining Traffic	1	LS	\$23,500.00	\$23,500.00	\$40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$31,180.80	\$31,180.80				
	GRAVITY PIPE & SERVICES (SEWER)														
4	21" PVC ASTM D-3034 PS-115 Sanitary Sewer, Including Granular Backfill, Compaction, and Disposal of Excavated Material (5'-10' Excavation Depth)	30	LF	\$231.80	\$6,954.00	\$255.00	\$7,650.00	\$275.00	\$8,250.00	\$264.00	\$7,920.00				
5	21" PVC ASTM D-3034 PS-115 Sanitary Sewer, Including Granular Backfill, Compaction, and Disposal of Excavated Material (10'-15' Excavation Depth)		LF	\$241.30	\$444,474.60	\$300.00	\$552,600.00	\$275.00	\$506,550.00	\$316.00	\$582,072.00				
6	21" PVC ASTM D-3034 PS-115 Sanitary Sewer, Including Native Backfill and Compaction (5'-10' Excavation Depth)	130	LF	\$161.70	\$21,021.00	\$188.00	\$24,440.00	\$275.00	\$35,750.00	\$238.00	\$30,940.00				
7	21" PVC ASTM D-3034 PS-115 Sanitary Sewer, Including Native Backfill and Compaction (10'-15' Excavation Depth)	150	LF	\$176.65	\$26,497.50	\$205.00	\$30,750.00	\$210.00	\$31,500.00	\$263.50	\$39,525.00				
8	21" PVC ASTM D-3034 PS-115 Sanitary Sewer, Including Native Backfill and Compaction (15'-20' Excavation Depth)	630	LF	\$174.05	\$109,651.50	\$215.00	\$135,450.00	\$210.00	\$132,300.00	\$324.50	\$204,435.00				
9	21" RCP CL-III Sanitary Sewer, Including Granular Backfill, Compaction and Disposal of Excavated Material (10'-15' Excavation Depth)	6	LF	\$303.80	\$1,822.80	\$568.00	\$3,408.00	\$210.00	\$1,260.00	\$1,713.00	\$10,278.00				

Bid Tabulation

BID ITEM	DESCRIPTION	ESTIMATED QUANTITY	UNITS	MILCON UNIT COST	CONCRETE TOTAL COST	OUTDOOR UNIT COST	ENTERPRISE TOTAL COST	KINNISON UNIT COST	I EXCAVATING TOTAL COST	SUNESIS CO UNIT COST	ONSTRUCTION TOTAL COST				
	STORM SEWER REPAIR														
10	Repair 4" Storm Sewer, ODOT 707.45 (PVC SDR-35), Including Native Backfill and Compaction	50	LF	\$26.35	\$1,317.50	\$53.00	\$2,650.00	\$30.00	\$1,500.00	\$31.00	\$1,550.00				
11	Repair 6" Storm Sewer, ODOT 707.45 (PVC SDR-35), Including Native Backfill and Compaction	50	LF	\$35.50	\$1,775.00	\$57.00	\$2,850.00	\$40.00	\$2,000.00	\$37.00	\$1,850.00				
12	Repair 6" Storm Sewer, ODOT 707.33 (CPSLP), Including Granular Backfill, Compaction, and Disposal of Excavated Material	40	LF	\$32.50	\$1,300.00	\$54.00	\$2,160.00	\$35.00	\$1,400.00	\$45.00	\$1,800.00				
13	Repair 8" Storm Sewer, ODOT 707.45 (PVC SDR-35), Including Native Backfill and Compaction	50	LF	\$51.60	\$2,580.00	\$63.00	\$3,150.00	\$50.00	\$2,500.00	\$47.00	\$2,350.00				
14	Repair 12" Storm Sewer, ODOT 707.33 (CPSLP), Including Granular Backfill, Compaction, and Disposal of Excavated Material	25	LF	\$59.40	\$1,485.00	\$70.00	\$1,750.00	\$60.00	\$1,500.00	\$94.00	\$2,350.00				
	CASING PIPE OR TUNNEL LINE	R													
15	36" Minimum Steel Casing Pipe, Installed by Open Cut	444	LF	\$568.70	\$252,502.80	\$280.00	\$124,320.00	\$450.00 *	\$199,800.00	% \$776.00	\$344,544.00				
	MANHOLES							<u> </u>							
16	Sanitary Sewer Manhole (5' Diameter)	9	EA	\$10,541.00	\$94,869.00	\$10,650.00	\$95,850.00	\$10,000.00	\$90,000.00	\$14,016.00	\$126,144.00				
17	Sanitary Sewer Manhole (6' Diameter)	1	EA	\$16,058.00	\$16,058.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00	\$17,823.00	\$17,823.00				
18	Watertight Manhole Covers	2	EA	\$990.50	\$1,981.00	\$956.00	\$1,912.00	\$1,500.00	\$3,000.00	\$605.00	\$1,210.00				
19	Manhole Vent Pipe Assembly	3	EA	\$1,358.70	\$4,076.10	\$3,216.00	\$9,648.00	\$2,652.00	\$7,956.00	\$2,639.00	\$7,917.00				

Bid Tabulation

BID ITEM	DESCRIPTION	ESTIMATED QUANTITY	UNITS	MILCON UNIT COST	CONCRETE TOTAL COST	OUTDOOR UNIT COST	ENTERPRISE TOTAL COST	KINNISC UNIT COST	N EXCAVATING TOTAL COST	SUNESIS CO UNIT COST	ONSTRUCTION TOTAL COST
	PRESSURE PIPE & SERVICES (SEWER)									
20	16" Ductile Iron CL-53 Sanitary Forcemain, W/ Protecto 401 Lining, Including Native Backfill and Compaction	25	LF	\$532.80	\$13,320.00	\$564.00	\$14,100.00	\$2,200.00	\$55,000.00	\$711.00	\$17,775.00
	RESTORATION										
21	Seeding and Mulching	2,635	LF	\$13.80	\$36,363.00	\$4.00	\$10,540.00	\$5.00	\$13,175.00	\$8.00	\$21,080.00
22	Asphalt Roadway Trench Restoration (Prop. Sewer Trench)	102	LF	\$86.80	\$8,853.60	\$193.00	\$19,686.00	\$100.00	\$10,200.00	\$105.00	\$10,710.00
23	Asphalt Bike Path Restoration	1,470	LF	\$36.05	\$52,993.50	\$43.00	\$63,210.00	\$35.00	\$51,450.00	\$37.00	\$54,390.00
24	Concrete Curb and Gutter	80	LF	\$269.60	\$21,568.00	\$97.00	\$7,760.00	\$65.00	\$5,200.00	\$44.00	\$3,520.00
25	6" Concrete Barrier Curb	5	LF	\$173.40	\$867.00	\$95.00	\$475.00	\$65.00	\$325.00	\$85.00	\$425.00
26	4" Concrete Curb Ramp Replacement, Including Truncated Domes	495	SF	\$35.35	\$17,498.25	\$36.00	\$17,820.00	\$30.00	\$14,850.00	\$15.00	\$7,425.00
27	4" Concrete Sidewalk	60	SF	\$26.60	\$1,596.00	\$30.00	\$1,800.00	\$20.00	\$1,200.00	\$17.00	\$1,020.00

Bid Tabulation

BID	DESCRIPTION	ESTIMATED QUANTITY	UNITS	MILCON UNIT COST	CONCRETE TOTAL COST	OUTDOOR UNIT COST	ENTERPRISE TOTAL COST	KINNISOI UNIT COST	N EXCAVATING TOTAL COST	SUNESIS C	ONSTRUCTION TOTAL COST			
ITEM	MISCELLANEOUS CONSTRUCTION													
28	Abandon Existing Sanitary Manhole, Including Seeding or Pavement Restoration	7	EA	\$4,211.40	\$29,479.80	\$3,765.00	\$26,355.00	\$4,000.00	\$28,000.00	\$5,640.00	\$39,480.00			
29	Remove Existing Sanitary Manhole	3	EA	\$1,221.35	\$3,664.05	\$673.00	\$2,019.00	\$1,000.00	\$3,000.00	\$530.00	\$1,590.00			
30	Plug and Grout Existing Sanitary Sewer	977	LF	\$17.50	\$17,097.50	\$17.00	\$16,609.00	\$35.00	\$34,195.00	\$20.00	\$19,540.00			
31	Remove Existing Fencing at Existing MH #6B0305	1	LS	\$1,280.00	\$1,280.00	\$1,374.00	\$1,374.00	\$1,000.00	\$1,000.00	\$1,318.00	\$1,318.00			
32	Full Depth Pavement Sawing	220	LF	\$1.75	\$385.00	\$3.00	\$660.00	\$10.00	\$2,200.00	\$2.00	\$440.00			
33	CDF Backfill, As Directed by the Engineer	10	CY	\$106.70	\$1,067.00	\$259.00	\$2,590.00	\$200.00	\$2,000.00	\$125.00	\$1,250.00			
34	Remove and Reset Sign	4	EA	\$380.00	\$1,520.00	\$231.00	\$924.00	\$200.00	\$800.00	\$211.30	\$845.20			
	TOTAL BASE BID (ITEMS 1 - 34)	<u>. </u>			\$1,296,282.50		\$1,365,510.00		\$1,387,861.00 #		\$1,704,939.00			

Bid Tabulation

BID ITEM	DESCRIPTION	ESTIMATED QUANTITY		MILCON CONCRETE UNIT COST TOTAL COST		OUTDOOR UNIT COST	ENTERPRISE TOTAL COST	KINNISON EXCAVATING			SUNESIS CONSTRUCTION UNIT COST TOTAL COST		
	ALTERNATE MATERIALS - GRA		UNITS			Л		<u>п</u>					
4	24" AWWA C905 DR25, Including Granular Backfill, Compaction, and Disposal of Excavated Material (5'-10' Excavation Depth)	30	LF	\$278.30	\$8,349.00	\$314.00	\$9,420.00		^		^	\$334.25	\$10,027.50
5	24" AWWA C905 DR25, Including Granular Backfill, Compaction, and Disposal of Excavated Material (10'-15' Excavation Depth)	1,842	LF	\$291.90	\$537,679.80	\$363.00	\$668,646.00		۸		۸	\$373.50	\$687,987.00
6	24" AWWA C905 DR25, Including Native Backfill and Compaction (5'-10' Excavation Depth)	130	LF	\$214.40	\$27,872.00	\$258.00	\$33,540.00		۸		^	\$316.30	\$41,119.00
7	24" AWWA C905 DR25, Including Native Backfill and Compaction (10'-15' Excavation Depth)	150	LF	\$227.15	\$34,072.50	\$264.00	\$39,600.00		۸		۸	\$336.30	\$50,445.00
8	24" AWWA C905 DR25, Including Native Backfill and Compaction (15'-20' Excavation Depth)	630	LF	\$234.55	\$147,766.50	\$275.00	\$173,250.00		۸		۸	\$380.50	\$239,715.00
4	21" Vylon PS75, Including Granular Backfill, Compaction, and Disposal of Excavated Material (5'-10' Excavation Depth)	30	LF	\$182.60	\$5,478.00	\$205.00	\$6,150.00	\$235.00		\$7,050.00		\$221.00	\$6,630.00
5	21" Vylon PS75 Including Granular Backfill, Compaction, and Disposal of Excavated Material (10'-15' Excavation Depth)	1,842	LF	\$192.40	\$354,400.80	\$252.00	\$464,184.00	\$235.00		\$432,870.00		\$241.00	\$443,922.00
6	21" Vylon PS75, Including Native Backfill and Compaction (5'-10' Excavation Depth)	130	LF	\$109.80	\$14,274.00	\$150.00	\$19,500.00	\$235.00		\$30,550.00		\$168.40	\$21,892.00
7	21" Vylon PS75, Including Native Backfill and Compaction (10'-15' Excavation Depth)	150	LF	\$127.35	\$19,102.50	\$156.00	\$23,400.00	\$170.00		\$25,500.00		\$190.30	\$28,545.00
8	21" Vylon PS75, Including Native Backfill and Compaction (15'-20' Excavation Depth)	630	LF	\$125.15	\$78,844.50	\$167.00	\$105,210.00	\$170.00		\$107,100.00		\$249.25	\$157,027.50

Bid Tabulation

Bid Opening: April 27, 2022 Engineer's Estimate: \$1,400,000

										1	
BID		ESTIMATED		MILCON CONCRETE		OUTDOOR ENTERPRISE		KINNISON EXCAVATING		SUNESIS CONSTRUCTION	
ITEM	DESCRIPTION	QUANTITY	UNITS	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST

Notes:

- 1. Base Bid Bid Item Nos., beginning with RESTORATION, Bid Item No. 21, have been revised to be consecutive with the previous Bid Item Nos.
- * Unit Cost shown is as listed in Bid. It has not been corrected as prescribed in the Instructions to Bidders.
- % The Bid Item Total Cost shown is as listed in Bid. It has not been corrected as prescribed in the Instructions to Bidders.
- # Bidder's total price shown is as listed in the Bid. It has not been corrected as prescribed in the Instructions to Bidders.
- No Bid Unit Cost or Bid Item Total Cost submitted.